



St. Louis County, Minnesota

Date of Report: 12/16/2025 8:27:31 PM

General Details

 Parcel ID:
 380-0010-06270

 Document:
 Abstract - 01245380

Document Date: 08/29/2014

Legal Description Details

Plat Name: GRAND LAKE

Section Township Range Lot Block

32 51 16 - -

Description: THAT PART OF LOT 2 COMM AT SE COR OF LOT 2 & RUNNING THENCE ON AN ASSUMED BEARING

N01DEG 13'03"W ALONG E LINE 1620.31 FT TO PT OF BEG THENCE CONT ALONG E LINE N01DEG13'03"W 100 FT THENCE S88DEG45'49"W 498.30 FT MORE OR LESS TO SHORE OF GRAND LAKE THENCE SWLY ALONG SAID SHORE 207 FT MORE OR LESS TO A PT WHICH INTERSECTS A LINE BEARING S88DEG45'49"W

FROM PT OF BEG THENCE N88DEG45'49"E 565.80 FT MORE OR LESS TO PT OF BEG

Taxpayer Details

Taxpayer Name

and Address:

4811 KROLL ROAD

SAGINAW MN 55779

Owner Details

Owner Name DELP CHRISTOPHER R

Payable 2025 Tax Summary

2025 - Net Tax \$3,907.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$3,936.00

Current Tax Due (as of 12/15/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,968.00	2025 - 2nd Half Tax	\$1,968.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$1,968.00	2025 - 2nd Half Tax Paid	\$1,968.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 4811 KROLL RD, SAGINAW MN

School District: 704
Tax Increment District: -

Property/Homesteader: DELP, CHRISTOPHER

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)										
201	1 - Owner Homestead (100.00% total)	\$164,300	\$224,700	\$389,000	\$0	\$0	-			
	Total:	\$164,300	\$224,700	\$389,000	\$0	\$0	3775			





St. Louis County, Minnesota

Date of Report: 12/16/2025 8:27:31 PM

Land Details

Deeded Acres: 1.30 Waterfront: **GRAND** Water Front Feet: 127.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth:

₋ot l	Depth:	0.00					
The	dimensions shown are no	ot guaranteed to be s	urvey quality. A	Additional lot i	information can be	found at	Tax@stlouiscountymn.gov.
πιρο	.//apps.suouiscourity/iiii.s	JOV/WODI latomarilo/i			etails (HOUSE)		Taxe Shouldcounty IIII. gov.
I	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
	HOUSE	1994	1,33	36	1,336	-	RAM - RAMBL/RNCH
	Segment	Story	Width	Length	Area	Founda	ition
	BAS	1	12	18	216	PIERS AND F	OOTINGS
	BAS	1	28	40	1,120	FOUNDA	TION
	DK	1	12	22	264	PIERS AND F	OOTINGS
	DK	1	12	24	288	PIERS AND F	OOTINGS
	OP	1	8	40	320	PIERS AND F	OOTINGS
,	Bath Count	Bedroom Co	unt	Room Co	ount	Fireplace Count	HVAC
	1.0 BATH	2 BEDROOM	ИS	-		0 0	C&AIR_EXCH, ELECTRIC
			Improve	ment 2 De	etails (DG/LAG))	
ı	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	GARAGE	1996	576	6	864	-	DETACHED
	Segment	Story	Width	Length	Area	Founda	ition
	BAS	1	12	24	288	-	
	DKX	1	5	6	30	-	
	LAG	2	12	24	288		
			Improve	ement 3 De	etails (SAUNA)		
ı	mprovement Type	Year Built	Main Flo	or Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	SAUNA	0	240	0	240	-	-
	Segment	Story	Width	Length	Area	Founda	ition
	BAS	1	12	20	240	FLOATING	3 SLAB

					, ,		
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	SAUNA	0	240	0	240	-	=
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	12	20	240	FLOATING	SLAB

Improvement 4 Details (BAR 6X10)										
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ²				Basement Finish	Style Code & Desc.					
STORAGE BUILDING	0	60		60	-	-				
Segment	Story	Width	Length	Area	Foundation					
BAS	1	6	10	60	PIERS AND FOOTINGS					
DKX	1	6	10	60	POST ON GR	ROUND				

	Improvement 5 Details (ST 10X15)										
Imp	provement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STO	RAGE BUILDING	0	150	0	150	-	-				
	Segment	Story	Width	Length	Area	Foundat	ion				
	BAS	1	10	15	150	POST ON GF	ROUND				





St. Louis County, Minnesota

Date of Report: 12/16/2025 8:27:31 PM

		•	ent 6 Details (C	ARPT 8X20)					
Improvement Type		Main Flo		Area Ft ²	Basement Finish	:	Style C	ode & Desc.	
CAR PORT	0	16		160					
Segmen	•		Length	Area		dation			
BAS	1	8	8 20 160 POST ON GROUND						
		-	ement 7 Details						
Improvement Typ		Main Flo		Area Ft ²	Basement Finish	;	Style C	ode & Desc.	
STORAGE BUILDIN		30		30	<u> </u>			-	
Segme	•		Length	Area		dation	ın		
BAS	1	5	6	30	POST ON	N GROUN	1D		
_		-	ement 8 Details	,					
Improvement Type				Area Ft ²	Basement Finish	,	-	ode & Desc.	
Segmei	nt Story	y Width		20 Araa	- Four	dation	I LE	- TILE	
BAS	0	, w idii 16	Length 20	Area 320	Foun	-			
2,10			· · · · · · · · · · · · · · · · · · ·		-1:4				
_		Sales Reported	to the St. Louis	County Au					
	le Date		Purchase Price		C	CRV Num			
	3/2014 3/2001		\$260,000 \$210,000			20732			
	6/1999		\$176,000 128436						
	3/1333	Δ	ssessment Histo	orv		120430	,		
	Class			,	Def		Def		
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV		ldg MV	Net Tax Capacity	
Teal	201	\$164,300	\$234,200	\$398,500			\$0	- Capacity	
2024 Payable 2025	Total	\$164,300	\$234,200	\$398,500			\$ 0	3,878.00	
	201	\$138,300	\$194,400	\$332,700			\$0	-	
2023 Payable 2024	Total	\$138,300	\$194,400	\$332,700			\$0	3,254.00	
	201	\$133,900	\$219,100	\$353,000			\$0	-	
2022 Payable 2023	Total	\$133,900	\$219,100	\$353,000			\$ 0	3,475.00	
	201	\$113,300	\$183,500	\$296,800	· ·		\$0 \$0		
2021 Payable 2022		\$113,300						2,863.00	
					2,003.00				
			Tax Detail Histor	у					
		Special	Total Tax & Special		Taxable B	uildina			
Tax Year	Tax	Assessments	Assessments	Taxable Lan			Total	l Taxable MV	
2024	\$3,487.00	\$25.00	\$3,512.00	\$135,267	7 \$190, ⁻	136	9	\$325,403	
2023	\$3,901.00	\$25.00	\$3,926.00	\$131,825		\$215,705		\$347,530	
2022	\$3,637.00	\$25.00	\$3,662.00	\$109,28	1 \$176,9	991	9	\$286,272	





St. Louis County, Minnesota

Date of Report: 12/16/2025 8:27:31 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.